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4.7 - Trigonometric Equations - Day 3

Trigonometric Equations Quadratic in Form

Some trigonometric equations are in the form of a quadratic equation
au® + bu + ¢ = 0, where u is a trigonometric function and a # 0. Here are two
examples of trigonometric equations that are quadratic in form:

_
2cos’x +cosx —1=0 2sinx —3sinx +1=0. |H 3 47
p. 624739 -5 S
The form of this equation is The form of this equation is = ~
26t + u — 1 = 0 with u = ¢os x. 2u? - 3u + 1= 0 with u = sia x.

To solve this kind of equation, try using factoring. If the trigonometric expression does
not factor,use another method, such as the quadratic formula or the square root property.

Lets practice a little factoring first!
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EXAMPLE 4 Solving a Trigonometric Equation Quadratic in Form

Solve the equation: 2cos’x + cosx — 1 =0, 0 =x < 2.

<2COS)< — |>(cos,< + ]v =0

Zosk— (=0 toxy| =0
ZCOS)(:: \

(oSX = - \




4.7 - Day 3 - Trig Egs.notebook March 20, 2019

@ CheckPoint4 Solvetheequation: 2sinx — 3sinx + 1 =0, 0= x < 2m.
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@ Check Point 5 Solve the equation: 4cosx — 3 =0. 0= x < 2.
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